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	CCSS
	MONDAY
	TUESDAY
	WEDNESDAY
	THURSDAY

	Number and Operations Base Ten:

4.NBT
	        732, 365 + 2,398
	       816, 498

    + 433, 876
	      389,584 + 9,345
	          223, 009

       +  89, 848

	Number and Operations Base Ten:

4.NBT 


	     16,009 – 13,127
	           54,562

       -   13,776
	      18,096 – 3,459
	         22, 042

      -   18,317

	Operations and Algebraic Thinking

4.OA
	      24 X 10
	       46 X 10
	     70 X 10
	       25 X 10

	Operations and Algebraic Thinking

4.OA
	        ____

 7    ) 67
	            _____

      8   ) 99


	           ______

     10 ) 150
	            _____

     12  )146

	Number and Operations Fractions:

4.NF
	Alhad ate ¾ of a pizza. Lauren ate ¾ of a pizza. How much did they eat altogether? Draw a picture.
	    < , >, or =

5/3   _________ 3/4
	< , >, or =

 3/6 _________ 5/10 
	Shade in 5/10 of the rectangle.


[image: image1]

	Number and Operations Base Ten:

4.NBT
	Alhad ate ¾ of a pizza. What decimal represents this amount?

______________________
	    5.23 + 5.88
	   40.98 – 2.75
	I have 11 hundreds, 3 tens,

2 ones, 5 tenths and 2 hundredths. What number am I?

__________________

	Geometry:

4.G
	
The short sides are 5 inches. The long sides are twice the short sides. What is the area?
	
What am I? Give me two Names:
	I am a triangle with an angle greater than 90 degrees. Draw me and name me.

Name:
	
The short sides are 6cm. The long sides are twice the short sides. What is the perimeter?

	Measurement and Data:
4.MD


	How many degrees in a half rotation?

_________________
	How many feet are in 10 yards?

_________________
	I am 74 inches tall. What is my height in feet?  

________________
	There are __2000____

pounds in  1 ton.

There are ________

pounds in  1 1/2 tons.

	Operations and Algebraic Thinking

4.OA
	(4 X 4) + 2 = 32 -  ____
	(3 X 8) + 12 = ___ X  12
	(25 - ___) X 1 = 5 X 5
	 27 + 13 =  70 -  _____


